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Principles of Economics I - Classroom Experiment (6): Tradable Permit Market

234 - 8483 9% FERERA- FAR ARSI BARI HFR A F BT - LRI R
rek g ¢ £7] 5«5 §oEF o J=11,> Q=12 K=13> & A=1> @ = &=15, | &=14) > ¥ 5 #&
4%u¢#ﬁ*—ﬂ%éﬁ*—ﬁ%mﬁﬁwﬁﬁﬁmﬁWA%() S R ] 4 i
P2 5 DI ehi-d #F o Form groups of 2-3, each representing a factory, to participate in two markets
of 20 groups. In each round, each group will receive a card (J=11, Q=12, K=13, A=1, but Red Joker = 15,
Black Joker = 14). The number of your card multiplied by 10 and plus 1 is your cost for reducing one ton
of carbon emission. For example, if your card is 9, your cost is 9x10+1 =91. Please keep your card as a secret.
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The experimenter represents the government to issue permits for carbon emission. Permits are distributed
either randomly, to all, or through an auction (announced at the beginning of each round). Those who receive
permits initially gain special technology that lowers your cost by $2, so their pollution reduction cost becomes
the number of your card_multiplied by 10 and minus 1: If your card is 9, your cost is 9x10-1 = 89.

FRR A FREEFRFAEDERE I RGP ER F 5 AR AR o S ST After

receiving the permits, firms can trade their permits using the following rules:
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T X722k B o You have five minutes to bargain with each other. Bargaining is Voluntary, but you

cannot reverse a trade once it is reported. After reaching a deal, please come to the front with your record
sheet and card to report your trade. All prices will be announced and recorded on the blackboard.
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experimenter acts as the specialist taking orders from both sides (“buy $X** or “sell $Y”) and recording them
on the blackboard. If you want to accept the other side’s standing offer, simply shout “take” and come to the
front with your record sheet and card to report your trade.
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IR R THRBE G DR RS A TR ﬁ o After the market closes, factories with permits are allowed to
emit pollution (no cost), other factories pay the pollution reduction cost (your number multiplied by 10 and
plus/minus 1). Hence, factories with permits can keep their permits (and save the reduction cost), or sell their
permits for profit (and pay the reduction cost). Other firms choose to buy permits or pay the cost.
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W T R R S A s R NP el | d & 2 8 T 354 # - Special rule: When several factories
form a large firm, students from all factories jointly form the Board of Directors to make decisions collectively.
Each factory has the same pollution reduction cost as before, and the Board decides which factory should use
the permits and which pay the reduction cost. However, total profit of the firm is evenly shared by all factories.
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A K'% 2100 B E_ BT E R s Bic o A BAX B 0 2 F 4% 3 o Profit Calculation: After each round,
please record your number, reduction cost and transaction price. Your profit for this round is 130 minus your
pollution reduction cost. Total profit divided by 100 will be your grade for this experiment.
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Answer the following questions ¥ % T 71| i 4% :
1. How does allocation of property rights affect bidding and equilibrium prices? # ﬁéﬁﬁ‘? e e B B e
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2. How does mergers affect bidding and equilibrium prices? What about mergers? i @ & & 4 e £ 58
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